—R+ { (11 3)1 (21 4) }
-(1,3 (3,49 (1,9

R+={(1,2),(23),(3 4), (54,
(1,3).(24),14}

1

R (p. 10 )
1. R R
2. R G R
3.1 2 R’
1. R R
2. R R
3. 12 R’

- (51 4) # (4v 5)
2 1
-(1,2(23 @3co°
-(1,2 (2,3 (3,4 (1,4

1

[ .--.J-,: R:{ (1, 2)’ (2’ 3)](3, 4), (5, 4)}

-{1,234,5}

R*={(1,2),(2,3), (3,4, (5 4,
(1,3),(2,4), 1,4
(1,1),(2.2),(3,3), (44,059}

i _.],: R={(12),(23),3, 4,54}

R={(1,2),(23),(3 4,549}
=2
R={(21),(32, (43,45}

R ={(1,2),(273), (3 4),(5,4),
(2.1).3,2,(43). (459}




(m10, m50)

(030, bS0)




(WGMC, MCG-WG)
(GC-MW, MW-GC)

Ro X200ty
o>y R v @

(MGWC, WC-MG)
(C-MGW, MGW -C)
(W-MGC, MGC-W)
(GMWC, MWC-G

(MWGC-9/, &//MWGC)

abec ...,12 ..
(string) (word)

abc, cha al, 2¢

w (length)
abch |abcd 4
€
= Ol | 0




(concatenation)

(alphabet)
{a,z 1} {0}
(language, formal language)

{e }

dog house doghouse
W X WX
€
€ w=we =w
{0,1} (palindrome)

€ ,0,1, 00,11, 010, 11011, ...

5 = (finite automaton, FA)

— F Q
_’M:(sz 16 qu!F)

b2
z *
> ={a Z *={e ,a e @8 ...}
s ={0, 1} ¥ *={¢ ,0,1, 00, 01, 10, 11, 000, ...}
FA

FA 1

(P21 22)




FA 2

B ~7QxZ*  Q

1 7(q.?)?q
- FA

2. w a
72 (q,wa) ? 2 (?(q,w), a)
> W a

wa
(q, a) ??(?(a,?),a)? ?(q,a)

i (22 )
¥ } EM:(Q,Z ,6 ,qo,F) .
_Q:{q)vqquzrqi} -
-2 ={0,1}
odd -even | ‘odd-odd
_F:{ q;}/ /a.;\
-0 (qd-~ Go_[ 1)
‘\ /qa [¢F] (¢}
q q; 9z Qo
92 Yo Js
[¢] q; o]
S
X M

AM:(Q,Z,a,CP,F) a(CP,X) F

- L(M)={xB (»,x) F}

FA 3

( 22 )

Bl Lo

01

110101
3 (@ -ad (@~ @
9 (qo, 0)" %, 9 (qr l)" even-erl®)
6 (q31 0)" qr 6 (qr :I-)‘> QZD

100

- 57




